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TNPSC GROUP II PRELIMINARY 2022 
 

1. Name the first woman who have been jailed for Salt Satyagraha in Madras 
Presidency? 
a. Rukmini Lakshmipathi   b. Durgabai 
c. Satyawati     d. Swaroop Rani 
e. Answer not known 
nkl;uh]; khfhzj;jpy; cg;G rj;jpahfpufj;jpy; <Lgl;L rpiwf;F nrd;w Kjy; 
ngz;kzp ahu;? 
a. Uf;kzp yl;Rkpgjp    b. Jh;fhgha; 
c. rj;ahtjp      d. ];t&g; uhzp 
e. tpil njhpatpy;iy 

 
2. Which one of the following is not the achievement of Justice Party Rule? 

a. Passing Communal G.O. of 1921 and 1922 
b. Creating Public Service Commission 
c. Granting Voting Rights to women 
d. Non-cooperation Movement 
e. Answer not known 
fPo;f;fz;ltw;wpy; xd;W kl;Lk; ePJpf;fl;rpapd; rhjid my;y? 
a. 1921 kw;Wk; 1922Mk; Mz;bnd; tFg;Gthj murhizfis epiwNtw;wpaJ 
b. muR gzpahsh; Njh;thizak; cUthf;fg;gl;lJ 
c. ngz;fSf;F thf;Fhpik toq;fg;gl;lJ 
d. xj;Jioahik ,af;fk; 
e. tpil njhpatpy;iy 

 
3. Virtual G20 digital Economy Ministers Summit 2020 was organised by 

a. Saudi Arabia   b. Iran   c. Iraq 
d. Kuwait    e. Answer not known 
nka;epfh; G20 vz;zpay; nghUshjhu ke;jphpfs; $l;lk; 2020 ,y; ve;j 
ehl;lhy; mikf;fg;gl;lJ? 
a. rTjp mNugpah  b. <uhd;    c. <uhf; 
d. Fitj;   e. tpil njhpatpy;iy 

 
4. Which of the following is/are true? 
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i. Reformation may be identified with partial changes in the value 
system and consequential changes in the quality of relationships. 

ii. Transformative changes are characterized with radical changes in the 
total system. 

a. i only    b. ii only   c. i and ii 
d. None of the above e. Answer not known 
fPo;f;fhz;gitfspy; vJ/vit rhp? 
i. rPh;jpUj;jk; vd;gJ kjpg;G mikg;gpy; Vw;gLk; gFjp khw;wq;fs; kw;Wk; 

cwtpd; juj;jpy; Vw;gLk; tpisT hPjpahd khw;wq;fshy; milahsk; 
fhzg;glyhk;. 

ii. cUkhw;w khw;wq;fs; nkhj;j mikg;gpy; jPtpu khw;wq;fSld; 
tifg;gLj;jg;gLfpd;wd. 

a. i kl;Lk;    b. ii kl;Lk;   c. i kw;Wk; ii 
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

5. Wilson, Mathan, Guna can complete one round of a circular track in 10, 15 
and 20 minutes respectively. If they start together at 7 am from the starting 
point at what time will they meet together again at the starting point? 
a. 8 am   b. 8 pm    c. 5 pm 
d. 9 am   e. Answer not known 
tpy;rd;> kjd;> Fzh MfpNahh; xU tl;l tbtpyhd XLghijapd; xU Rw;iw 
KiwNa 10> 15 kw;Wk; 20 epkplq;fspy; Rw;wp Kbf;fpd;wdh;. mth;fs; 
njhlf;fg; Gs;spapy; fhiy 7 kzpf;F xd;whfr; Rw;wj; njhlq;fpdhy;> 
mth;fs; kPz;Lk; vg;NghJ njhlf;fg; Gs;spapy; xd;whfr; re;jpg;ghh;fs;? 
a. 8 K.g   b. 8 gp.g    c. 5 gp.g 
d. 9 K.g   e. tpil njhpatpy;iy 
 

6. Two exactly similar wires are stretched by the same load. Their elasticities 
are in the ratio 5:3. The ratio of their elongations are 
a. 3 : 5  b. 5 : 3   c. 9 : 25 
d. 25 : 9  e. Answer not known 
,U xj;j fk;gpfs; rk msTs;s vilahy; fl;bj; njhq;ftplg;gl;Ls;sd. 
mtw;wpd; kPl;rpapy; Fzfq;fspd; tpfpjk; 5 : 3 vdpy; fk;gpfspd; ePl;rp 
tpfpjk; vd;d? 
a. 3 : 5  b. 5 : 3   c. 9 : 25 
d. 25 : 9  e. tpil njhpatpy;iy 

 
7. Principles of scientific thinking are 

(i) Empiricism 
(ii) Rationalism 
(iii) Skepticism 
a. i only   b. ii only   c. i and ii only 
d. i, ii and iii  e. Answer not known 
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mwptpay; rpe;jidapd; nfhs;iffs; 
(i) mDgtthjk; 
(ii) gFj;jwpTthjk; 
(iii) re;Njfk; 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 

 
 

8. In the collective model of the nucleus, the shape of nuclear core is 
a. Non-spherical  b. Spherical  c. Semi-Spherical 
d. Circular   e. Answer not known 
mZf;fUtpd; $l;L khjphp mikg;gpy; mZf;fU vj;jifa tbtj;ijg; 
ngw;wpUf;Fk;? 
a. Nfhs tbtkw;w   b. Nfhs tbtk;   
c. miuf;Nfhs tbtk;   d. tl;l tbtk; e. tpil njhpatpy;iy 

 
9. Choose the stronger acid in each of the following pair.  

i. H3O+ or H2O  
ii. NH4

+ or NH3 
iii. H2S or HS- 
iv. H2O or OH-  
a. H3O+ NH4+, H2S, H2O      
b. H2O, NH3, HS-, OH-  
c. H3O+, NH3, HS-, H2O      
d. H2O, NH4

+, H2S, OH-  
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s xt;nthU N[hbapYk; typik kpF mkpyj;ijj; 
Njh;T nra;aTk;.  
i. H3O+ my;yJ H2O  
ii. NH4

+ my;yJ NH3 
iii. H2S my;yJ HS- 
iv. H2O my;yJ OH-  
a. H3O+ NH4

+, H2S, H2O      
b. H2O, NH3, HS-, OH-  
c. H3O+, NH3, HS-, H2O      
d. H2O, NH4

+, H2S, OH-  
e. tpil njhpatpy;iy  
 

10. Find the ratio of 3km to 300m? 
a. 3 : 10   b. 10 : 3   c. 1 : 10 
d. 10 : 1   e. Answer not known 
3 fp.kP-f;Fk; 300 kPl;lUf;Fk; ,ilNa cs;s tpfpjk; fhz;f. 
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a. 3 : 10   b. 10 : 3   c. 1 : 10 
d. 10 : 1   e. tpil njhpatpy;iy 
 

11. If the population in town has increased from 20,000 to 25,000 in a year find 
the percentage increase in population 
a. 50% b. 25% c. 75% d. 100%  e. Answer not known 
xU efuj;jpd; kf;fs;njhif Xh; Mz;by; 20>000-ypUe;J 25>000-Mf 
mjpfhpj;Js;sJ vdpy; kf;fs; njhif mjpfhpg;G rjtPjj;ijf; fhz;f. 
a. 50% b. 25% c. 75%  d. 100% e. tpil njhpatpy;iy 

 
12. Match the following 

A. Aposporty  1. Development of a sporophyte directly  
from the gametophyte 

 B. Apogamy  2. Fruit formation without fertilization of  
ovules 

 C. Parthenocarpy 3. Development of an embryo from an  
unfertilized egg cell 

 D. Parthenogenesis 4. Development of gametophytes directly  
from the sporophyte 

  A B C D 
 a. 2 3 4 1 
 b. 1 4 3 2 
 c. 4 1 2 3 
 d. 2 4 1 3 
 e. Answer not known 
 nghUj;Jf 
 A. mg;Ngh];Nghhp  1. Nfkpl;Nlhigl;bypUe;J Neubahf  

];NghNuhigl; cUthFtJ 
 B. mg;NghNfkp  2. fUTwhky; gok; cUthFtJ 
 C. ghh;j;jpNdhfhh;gp 3. fUTwhj Kl;il nry;ypypUe;J fU  

cUthtJ 
 D. ghh;j;jpNdhn[dPrp]; 4. ];NghNuhigl;bypUe;J Neubahf  

Nfkpl;Nlhigl; cUthtJ 
  A B C D 
 a. 2 3 4 1 
 b. 1 4 3 2 
 c. 4 1 2 3 
 d. 2 4 1 3 
 e. tpil njhpatpy;iy 
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13. The interaction of biotic potential with environmental resources, as seen in 
populations showing the S – shaped growth curve, as:  
dN / dt = rN (N – K) / K  where N is the number of individuals in the 
population, t is the time, r is the biotic potential of the organism concerned 
and K stands for  
a. Carrying capacity      
b. Maximum population size   
c. Particular habitat      
d. Biomass   
e. Answer not known  
S – tbt tsh;r;rp tisitf; fhl;Lk; kf;fs; njhifapy; fhzg;gLtJ Nghy; 
Rw;Wr;#oy; tsq;fSldhd caphpay; Mw;wypd; njhlh;G:   
dN / dt = rN (N – K) / K ,q;F N vd;gJ kf;fs; njhifapy; cs;s 
jdpegh;fspd; vz;zpf;if t vd;gJ Neuk; r vd;gJ rk;ge;jg;gl;l caphpdj;jpd; 
caphpay; jpwd;> kw;Wk; K vd;gJ.  
a. jhq;Fk; jpwd;       
b. mjpfgl;r kf;fs; njhif msT  
c. Fwpg;gpl;l tho;tplk;       
d. caph;g; nghUs; 
e. tpil njhpatpy;iy  

 
14. According to the Niti Aayog’s Health Index (2021), ____, ____ and emerged 

as the top three states in India. 
a. Uttar Pradesh, Assam and Punjab 
b. Kerala, Tamil Nadu and Telangana 

c. Andhra Pradesh, Maharashtra and Gujarat 
d. Punjab, Karnataka and Haryana 
e. Answer not known 
2021 Mk; Mz;L ntspaplg;gl;l epjp MNahf;fpd; Rfhjhuf; FwpaPl;bd;gb 
_____, _____ kw;Wk; _____ Mfpa khepyq;fs; Kjy; %d;W ,lq;fisg; 
gpbj;Js;sd. 
a. cj;jpug; gpuNjrk;> m];]hk; kw;Wk; gQ;rhg; 
b. Nfush> jkpo;ehL kw;Wk; njYq;fhdh 
c. Me;jpu gpuNjrk;> kfhuh~;buh kw;Wk; F[uhj; 
d. gQ;rhg;> fh;ehlfh kw;Wk; `hpahdh 
e. tpil njhpatpy;iy 

 
15. The first Indian male Badminton player to win a silver medal under men’s 

singles in the world Badminton Championship was 
a. Kidambi Srikanth  b. Parupalli Kashyap 
c. Sai Praneeth   d. Pullela Gopichand 
e. Answer not known 
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cyf Mlth; xw;iwah; ,wFg;ge;jhl;l rhk;gpad;~pg; Nghl;bfspy; nts;spg; 
gjf;fk; ntd;w Kjy; ,e;jpa Mz; ,wFg;ge;jhl;l tpisahl;L tPuh;? 
a. fplhk;gp =fhe;j;  b. ghUgs;sp f~pag; 
c. rha; gpuzPj;   d. Gy;Nyy Nfhgpre;j; 
e. tpil njhpatpy;iy  

 
16. Justice D. Murugesan Committee has been constituted in 2021 to look into 

the matter of 
a. Reservation for Government school students in Tamil Nadu Police 

Service 
b. Reservation in Public Sector Units 
c. Enrolment ratio of Government School Students in Professional 

Courses 
d. NEET Examination 
e. Answer not known 
2021,y; ePjpaurh; D. KUNfrd; FO __________ fhhpaj;ij Muha 
mikf;fg;gl;lJ 
a. muRg;gs;sp khzth;fSf;Fj; jkpo;ehL fhty; Jiwapy; ,l xJf;fPL 
b. nghJj;Jiw epWtdq;fspy; ,l xJf;fPL 
c. njhopw;fy;tpapy; muRg;gs;sp khzth;fspd; Nrh;f;if tpfpjk; 
d. ePl; Njh;T 
e. tpil njhpatpy;iy 

 
17. Assertion (A): Science is complex, Abstract and multi faceted discipline 

Reason (R): Scientific knowledge is concrete theoretical and synthetic 
a. A is true, but R is false 
b. Both A and R are true, and R is the correct explanation of A 
c. A is false R is true 
d. Both A and R are true, but R is not the correct explanation of A 
e. Answer not known 
$w;W (A): mwptpay; rpf;fyhd> fUj;jpayhd kw;Wk; gd;Kfj;jd;ikf; 
nfhz;litahFk; 
fhuzk; (R): mwptpay; mwpT vd;gJ> gUg;nghUs;> Nfhl;ghL kw;Wk; njhFg;G 
Kiwfis cs;slf;fpaJ 
a. A rhpahdJ Mdhy; R jtwhdJ 
b. A k; R k; rhp> R> A tpw;f;fhd rhpahd tpsf;fk; 
c. A jtwhdJ R rhpahdJ 
d. A k; Rk; rhp Mdhy; R> A tpw;f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
 
18. Consider the following statements 

Assertion (A): Simorgh (phoenix) launched two satellites 
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Reason (R): It is a satellite carrier rocket 
a. Both are true   b. Both are false 
c. A is false and R is true d. A is true and R is false 
e. Answer not known 
fPo;f;fz;l thf;fpaq;fis ftdp 
$w;W (A): rpNkhh;f; (gPdpf;];) ,uz;L nraw;iff; Nfhs;fis tpz;zpy; 
nrYj;jpaJ 
fhuzk; (R): ,J nraw;iff; Nfhs;fis vLj;Jr; nry;Yk; VTfyk; MFk; 
a. ,uz;Lk; rhpahdJ    b. ,uz;Lk; jtwhdJ 
c. A jtwhdJ kw;Wk; R rhpahdJ  d. A rhpahdJ kw;Wk; R jtwhdJ 
e. tpil njhpatpy;iy 

 
19. Read the following passage and answer the item that follow. Your answer to 

this item should be based on this passage only 
PASSAGE 

Education Management information system has been brought online 
wherein the database of every school, teacher and students in Government, 
Government aided and private schools are maintained on real time basis. 
Using this information several tasks are automated, simplified and reported 
everyday. 
 
Which one of the following is best implied in the passage? 
a. Government has control over school 
b. It helps government in taking well informed policy decision 
c. Different stakeholder are involved in the system 
d. It is beneficial to the school authorities and students 
e. Answer not known 
 
fPNo nfhLf;fg;gl;Ls;s gj;jpiag; gbj;J tpdhtpw;F tpilaspf;fTk;. 
Cq;fsJ tpilahdJ fl;lhakhfg; gj;jpapd; mbg;gilapy; vLf;fg;gl;ljhf 
,Uf;f Ntz;Lk 
 
fy;tp Nkyhz;ik jfty; mikg;G vd;gJ ,iza topahff; nfhz;L 
tug;gl;Lf; nfhz;bUf;fpwJ. mjpy; muR> muR cjtpngWk; kw;Wk; jdpahh; 
gs;spfspd; Mrphpah; kw;Wk; khzth;fspd; juT jfty;fs; mt;tg;NghJ 
Nrfhpf;fg;gLfpd;wd. ,j;jfty;fisg; gad;gLj;jp mjpf nray;ghLfshdJ 
jhd; ,af;fg;gLfpd;wd> vspjhf;fg;gLfpd;w NkYk; ehs;NjhWk; mwpf;if 
rkh;gpf;fg;gLfpd;wd 
 
fPo;f;fz;ltw;Ws; vJ rpwg;ghd $w;whf mikAk;? 
a. murpw;Fg; gs;spfs; kPjhd fl;Lg;ghL 
b. rpwg;ghd jfty; %ykhd nfhs;if KbntLf;f murpw;F ,J cjTk; 
c. ,t;tikg;ghy; gy;NtW jug;gl;l gq;Fjhuh;fs; gq;nfLj;Js;sdh 
d. Gs;sp eph;thfj;jpw;Fk; kw;Wk; khzth;fSf;Fk; ,J gaDs;sjhf ,Uf;fk; 
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e. tpil njhpatpy;iy 
 
20. Choose the correct answer 

Given the situation due to COVID-19, the net borrowing ceiling of the states 
were enhanced to _______ of GSDP in 2021 
a. 4 percent   b. 3.5 percent  c. 5 percent 

d. 6 percent  e. Answer not known 
rhpahd tpiliaj; Njh;e;njL 
Nfhtpl; - 19 fhuzkhf Vw;gl;l #o;epiyapy;> khepyq;fspd; epfu fld; 
cr;rtuk;G 2021,y; GSDP ,d; ________ f;F Nkk;gLj;jg;gl;lJ 
a. 4 rjtPjk;  b. 3.5 rjtpjk;  c. 5 rjtPjk; 
d. 6 rjtPjk;  e. tpil njhpatpy;iy 
 

21. Match the following:  
A. Tropical Evergreen    1. Thorny Bushes 
B. Tropical Deciduous    2. Tidal Forests  
C. Semi desert     3. Tropical Rain Forest   
D. Mangrove     4. Monsoon forest  
 A B C D 
a.  3 4 1 2     
b.   4 3 2 1 
c.  2 1 3 4     
d.   4 2 3 1 
e. Answer not known   
gpd;tUtdtw;iwg; nghUj;Jf:  
A. madkz;ly gRikkhwhf; fhLfs;   1. Kl;Gjh;fs;    
B. madkz;ly ,iyAjph;f; fhLfs; 2. Xjf; fhLfs;  
C. twz;l ghiytdq;fs;     3. mad kz;ly kiof; fhLfs;  
D. rJg;Gepyf; fhLfs;    4. gUtf;fhw;Wf; fhLfs;  
 A B C D 
a.  3 4 1 2     
b.   4 3 2 1 
c.  2 1 3 4     
d.   4 2 3 1 
e. tpil njhpatpy;iy  

22. Assertion (A) : High density lipoproteins transport cholesterol from  
   Peripheral tissues to the liver.  
Reason (R)       : The elevation of lipids in plasma leads to the deposition of  
   cholesterol on the arterial walls, leading to atherosclerosis  
a. (A) is false but (R) is true  
b. (Both (A) and (R) are true, and (R) is the correct explanation of (R)  
c. (A) is true but (R) is false  
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d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)  
e. Answer not known  
$w;W (A)  : cah; mlh;j;jp nfhOg;Gg; Gujq;fs; Gwj; jpRf;fspy; ,Ue;J  
   fy;yPuYf;Ff; nfhy];l;uhiyf; nfhz;L nry;fpd;wd.  
fhuzk; (R) : gpsh];khtpy; cs;s ypg;gpl;fspd; kjpg;gPL jkdp Rth;fspy;  
     nfhy];l;uhy; gbtjw;F toptFf;fpwJ. ,J ngUe;jkdp  
   jbg;Gj;Njhy; mow;rpf;F toptFfpwJ.  
a. (A) jtW. Mdhy; (R) rhp       
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fkhFk;.   
c. (A) rhp> Mdhy; (R) jtW        
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fky;y   
e. tpil njhpatpy;iy 

 
23. The largest west flowing river of peninsular India is 

a. Mahi  b. Sabarmati   c. Narmada 

d. Luni  e. Answer not known 
jPgfw;g ,e;jpahtpd; Nkw;F Nehf;fpg; ghAk; kpfg;nghpa ejp vJ? 
a. k`p  b. rgh;kjp    c. eh;kjh 
d. Y}dp  e. tpil njhpatpy;iy 

 
24. If 5 persons can do 5 jobs in 5 days then how many days will it take for 50 

persons to finish 50 jobs? 
a. 5    b. 7     c. 9 
d. 11    e. Answer not known 
5 egh;fs; 5 Ntiyfis 5 ehl;fspy; nra;J Kbg;gh; vdpy; 50 egh;fs; 50 
Ntiyfis> vj;jid ehl;fspy; nra;J Kbg;gh;? 
a. 5    b. 7     c. 9 
d. 11    e. tpil njhpatpy;iy 
 

25. A reader reads 20 pages of a book in 2 hours in an uniform speed. How 
much time will it take read 50 pages of the same book in the same speed? 
a. 3 hours   b. 4 hours    c. 5 hours 
d. 4 ½ hours  e. Answer not known 
xU Fwpg;gpl;l Ntfj;jpy; xU Gj;jfj;ijg; gbf;Fk; xUth; 20 gf;fq;fisg; 
gbf;f 2 kzp NeukhfpwJ vdpy; mth; mNj Ntfj;jpy; mNj Gj;jfj;jpy; 50 
gf;fq;fisg; gbf;f vt;tsT NeukhFk;? 
a. 3 kzp   b. 4 kzp    c. 5 kzp 
d. 4½ kzp   e. tpil njhpatpy;iy 

 
26. Which among the following was not a nomenclature for "Union Territory" 

Previously?  
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a. Scheduled districts       
b. Chief Commissioner's Provinces  
c. Part C and Part D states      
d. Peculiar central enclaves  

e. Answer not known   
fPo;f;fhzg;gLgitfspy; vJ "xd;wpa gpuNjrq;fspd;" Ke;ija ngah;fs; 
fpilahJ?  
a. ml;ltizapw; Nrh;f;fg;gl;l khtl;lq;fs;       
b. jiyik Mizah;fspd; khfhzq;fs;   
c. gFjp C kw;Wk; gFjp D khepyq;fs;       
d. jdpj;Jtkhd kj;jpa gFjpfs;   
e. tpil njhpatpy;iy  

 
27. Which article of the Constitution states that the state to secure a social order 

for the promotion of welfare of the people? 
a. Article 38   b. Article 39  c. Article 37 
d. Article 36   e. answer not known 
kf;fs; eyid Nkk;gLj;Jtjw;fhf xU r%f xOq;if muR ghJfhf;f 
Ntz;Lk; vd;w ve;j murpayikg;G rl;lg;gphpT $WfpwJ? 
a. rl;lg;gphpT 38   b. rl;lg;gphpT 39  c. rl;lg;gphpT 37 
d. rl;lg;gphpT 36   e. tpil njhpatpy;iy 

 
28. Choose the right answer among type: 

Which of the following statements are true about Eleventh Five Year Plan of 
India? 
i. The main focus of this plan was towards faster and more inclusive 

growth 
ii. This plan stresses that benefits of development should reach all 

sections of population 
iii. Increased rice production in the eastern part of the country 
a. i only   b. i and iii only  c. i and ii only 

d. ii and iii only  e. answer not known 
fPo;f;fz;l $w;Wfspy; rhpahdij Njh;e;njLf;fTk; 
,e;jpahtpd; gjpndhd;whtJ Ie;jhz;Lj; jpl;lj;ijg; gw;wpa gpd;tUk; 
$w;Wfspy; vJ rhpahdJ? 
i. ,e;jj; jpl;lj;jpd; Kf;fpa ftdk; tpiuthd kw;Wk; cs;slf;fpa 

tsh;r;rpia Nehf;fpajhf ,Ue;jJ 
ii. tsh;r;rpapd; gyd;fs; midj;Jj; jug;G kf;fisAk; nrd;wila 

Ntz;Lk; vd;gij ,e;jj; jpl;lk; typAWj;JfpwJ 
iii. ehl;bd; fpof;Fg; gFjpfspy; mhprp cw;gj;jp mjpfhpj;J 
a. i kl;Lk;    b. i kw;Wk; iii kl;Lk; 
c. i kw;Wk; ii kl;Lk;  d. ii kw;Wk; iii kl;Lk; 
e. tpil njhpatpy;iy 
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29. Which of the following statements are true about the location and extent of 

India?  
i. India is divided into almost two equal halves by tropic of cancer.  
ii. India is the second largest country of the world in area  
iii. The latitude and longitudinal extend is nearly thirty degrees.  
iv. The standard meridian of India passes through Bhopal  
a. (ii) and (iii) only    b. (i), (ii) and (iv) only 
c. (i) and (iii) only   d. (i) (iii) and (iv) only  
e. answer not known 
,e;jpahtpd; ,Ug;gplk; kw;Wk; gug;gsT Fwpj;Jg; gpd;tUk; $w;Wfspy; vJ 
rhpahdJ?  
i. flf Nuifapdhy; ,e;jpah Xustpw;F ,uz;L rkg; gFjpfshfg; 
gphpf;fg;gl;Ls;sJ.  
ii. gug;gstpy; cyfpd; ,uz;lhtJ nghpa ehL ,e;jpah  
iii. ml;r kw;Wk; jPh;f;f NuiffSf;F ,ilNa cs;s ,ilntsp fpl;ljl;l 
Kg;gJ bfphp MFk;.  
iv. ,e;jpa jpl;l jPh;f;f Nuif Nghghy; topahf fle;J nry;Yk;l  
a. (ii) kw;Wk; (iii) kl;Lk;      
b. (i), (ii) kw;Wk; (iv) kl;Lk; 
c. (i) kw;Wk; (iii) kl;Lk;        
d. (i), (iii) kw;Wk; (iv) kl;Lk;   
e. tpil njhpatpy;iy  

 
30. The concentration Index was calculated by  

i. Total population and total cultivable area in terms of persons per km2.  
ii. dividing actual population of the district by the average population of a 
district.  
iii. Total population be correlated to the land area weighted according to its 
productivity. 
a. (i) and (ii) only    b. (ii) only  
c. (ii) and (iii) only   d. (iii) only  
e. Answer not known   
nrwpT FwpaPL vt;thW fzf;fplg;gLfpwJ.  
i. xU fp.kP y; cs;s egh;fs; mbg;gilapy; nkhj;j kf;fs; njhif 

kw;Wk;  
nkhj;j rhFgbapd; gug;g  

ii. xU khtl;lj;jpd; cz;ikahd kf;fs; njhifia mk;khtl;lj;jpd;  
ruhrhp kf;fs; njhifia nfhz;L tFj;jy;  

iii. nkhj;j kf;fs; njhif mjd; cw;gj;jpj; jpwDf;F Vw;g  
epyg;gug;Gld; njhlh;GilaJ.  

a. (i) kw;Wk; (ii) kl;Lk;   b. (ii) kl;Lk;  
c. (ii) kw;Wk; (iii) kl;Lk;    d. (iii) kl;Lk;  
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e. tpil njhpatpy;iy  
 
31. Where is the largest solar power project of India located? 

a. Rajasthan  b. Karnataka  c. Andhra Pradesh 
d. Gujarat   e. Answer not known 
,e;jpahtpd; kpfg;nghpa #hpa kpd;rf;jp jpl;lk; vq;F epWtg;gl;Ls;sJ? 
a. uh[];jhd;  b. fh;ehlfk;  c. Me;jpug;gpuNjrk; 
d. F[uhj;   e. tpil njhpatpy;iy 

 
32. Match the following 

List I (Place)   List II (Excavated by) 
A. Chandudharo   1. Aurel Stein 
B. Kulli    2. J.P. Joshi 
C. Rakhigarhi   3. Majumdar 
D. Dholavira   4. Amrendranath 
 A B C D 
a. 2 1 3 4 
b. 3 1 2 4 
c. 3 1 4 2 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf 
gl;bay; I (,lk;)   gl;bay; II (Njhz;lg;gl;lJ) 
A. rhd; P̀jhNuh   1. Muy; ];Bd; 
B. Fy;yp    2. J.P. N[h~p 
C. uhfpfhh;`p   3. k[{k;jhh; 
D. Njhytpuh   4. mkNue;jpuehj; 
 A B C D 
a. 2 1 3 4 
b. 3 1 2 4 
c. 3 1 4 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

33. Choose the incorrect match 
i. Suba  - Sipahsalar 
ii. Sarkar - faujdar 
iii. Pargana - Shiqdar 
iv. Village - Bakhshi 
a. i and ii only   b. ii only 
c. iii and iv only   d. iv only 

e. answer not known 
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nghUj;jk; ,y;yhjtw;iwj; Njh;e;njLf;fTk; 
i. Rgh  - rpg;ghrhyh; 
ii. rh;f;fhh; - ngs[;jhh; 
iii. gh;fhdh - rpf;jhh; 
iv. fpuhkk; - gf;~p 
a. i kw;Wk; ii kl;Lk;  b. ii kl;Lk; 
c. iii kw;Wk; iv kl;Lk;  d. iv kl;Lk; 
e. tpil njhpatpy;iy 

 
34. ‘Kitab-I-Nauras’ is a collection of the poems of 

a. Ibrahim Adil Shah – II   b. ahmad – II 
c. Tajud – Din Firuz    d. Muhammad – II 
e. Answer not known 
‘fpjg;-,-et;u];’ vd;gJ _________ vd;gthpd; ghly;fspd; njhFg;G E}y; 
a. ,uz;lhk; ,g;uhfpk; mby; ~h  b. ,uz;lhk; mfkJ 
c. jh[;Aj;-jpd; ng&];    d. ,uz;lhk; KfkJ 
e. tpil njhpatpy;iy 

 
35. Sikandar Lodi was responsible for the foundation of the __________ city in 

1504 A.D.  
a. Dholpur      b. Gwalior 
c. Etawah     d. Agra  

e. Answer not known  
fp.gp. 1504 ,y; epWtg;gl;l ___________ efuj;jpw;F> rpf;fe;jh; Nyhb 
mbj;jskhf ,Ue;jhh;.  
a. Njhy;Gh;     b. Fthypah; 
c. <l;lhth      d. Mf;uh  
e. tpil njhpatpy;iy  

 
36. Arrange the following territorial conquests of Alauddin Khilji in the correct 

chronological order. 
I. Ranthambor 
II. Malwa 
III. Chittor 
IV. Gujarat 
a. IV, I, III, II  b. I, III, IV, II  c. I, II, III, IV 
d. IV, III, II, I  e. Answer not known 
myhTjpd; fpy;[papd; gpd;tUk; gpuhe;jpa ntw;wpfis Kiwahd fhy 
thpirg;gb vOJf. 
I. ud;jk;Nghh; 
II. khy;th 
III. rpj;J}h; 
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IV. F[uhj; 
a. IV, I, III, II  b. I, III, IV, II  c. I, II, III, IV 
d. IV, III, II, I  e. tpil njhpatpy;iy 

 
37. Which of the following is/are correct about Cantonment Board?  

i. It is delimited area where the military forces are permanently 
stationed.  

ii. It does not work under the administrative control of the Defence 
Ministry  

iii. They are grouped into three categories  
a. (i) only correct    b. (i) and (ii) are correct   
c. (i) and (iii) are correct   d. (iii) only correct  
e. Answer not known   
fz;Nlhd;nkd;l; thhpaj;ijg; gw;wp fPo;f;fz;ltw;Ws; vJ / vit rhp?  
i. uhZtk; tiuaWf;fg;gl;l ,t;tplj;jpy; epue;jukhf epWj;jg;gl;bUf;Fk;  
ii. ghJfhg;G mikr;rfj;jpd; fl;Lg;ghl;bd; fPo; ,J nray;Ghptjpy;iy  
iii. ,it %d;W tiffshfg; gphpf;fg;gl;Ls;sJ.  
a. (i) kl;Lk; rhpahdJ    b. (i) kw;Wk; (ii) rhpahdit  
c. (i) kw;Wk; (iii) rhpahdit   d. (iii) kl;Lk; rhpahdJ  
e. tpil njhpatpy;iy 
 

38. Match the following:  
 Subject        Year  
A. Commission of Inquiry Act     1. 1968 
B. Central Civil Services (Conduct) Rules   2. 1850 
C. Public Servants (Enquiries) Act     3. 1964 
D. All India Service (Conduct) Rules    4. 1952 
 A B C D 
a.  1 2 3 4      
b.  4 3 2 1  
c.  4 2 1 3     
d.  3 1 2 4 
e. Answer not known   
fPo;f;fz;ltw;iwg; nghUj;Jf:  
 nghUs; (rl;lk;)       Mz;L  
A. tprhuiz Mizar; rl;lk;     1. 1968  
B. kj;jpaf; Fbikg; gzpfs; (elj;ij) tpjpfs; 2. 1850  
C. nghJg; gzpahsh;fs; (tprhuizfs;) rl;lk;   3. 1964   
D. mfpy ,e;jpa gzpfs; (elj;ij) tpjpfs;   4. 1952  
 A B C D 
a.  1 2 3 4      
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b.  4 3 2 1  
c.  4 2 1 3     
d.  3 1 2 4 
e. tpil njhpatpy;iy 
 

39. Buddhist poet Asvaghosa wrote ‘Buddha Charita’ in _______ language 
a. Prakrit  b. Pali    c. Urdu 
d. Sanskrit  e. Answer not known 
Gj;j ftpQh; m];tNfh~h; “Gj;j rhpij” ia ______ nkhopapy; vOjpdhh; 
a. gpuhfpUjk;  b. ghyp   c. cUJ 
d. rk];fpUjk;  e. tpil njhpatpy;iy 

 
40. Choose the right answer / answers about the supreme court of India.  

i. The Supreme Court is the Upholder of the Constitution of India.  
ii. The Judges of the Supreme Court hold office till the age of Seventy – two. 
iii. The Indian Judicial System consists of a Single hierarchy of Courts.  
iv. The Supreme court of India was constituted on January, 1950 
a. (i) and (ii) only     b. (ii) only  
c. (iii) and (iv) only    d. (i), (iii) and (iv) only  

e. Answer not known   
,e;jpa cr;r ePjpkd;wj;ijr; Fwpj;j rhpahd tpiliaj; Njh;e;njLf;fTk;. 
a. cr;rePjpkd;wk; ,e;jpa murpayikg;ig epiy epWj;Jk; mikg;G MFk; 
b. cr;rePjpkd;w ePjpgjpfs; 72 taJ tiu gjtpapypUg;ghh;. .   
c. ,e;jpa ePjpj;Jiw xw;iwg; gbepiy ePjpkd;w mikg;igf; nfhz;lJ. 
d. ,e;jpa cr;rePjpkd;wk; 1950-Mk; Mz;L [dthp khjk; njhlq;fg;gl;lJ.   
a. (i) kw;Wk; (ii) kl;Lk;  
b. (ii) kl;Lk; 
c. (iii) kw;Wk; (iv) kl;Lk;  
d. (i), (iii) kw;Wk; (iv) kl;Lk;  
e. tpil njhpatpy;iy  

 
41. Which of the following statement with respect to the Indian President’s 

power is/are correct? 
i. Money bills can be introduced in the Parliament only with his prior 

recommendation 
ii. When the financial stability or credit of the nation is threatened, the 

President can declare the Financial emergency 
iii. The President is not answerable before any court of law for exercising 

the powers and duties of his office 
iv. The administration of Union Territories is the responsibility of the 

President 
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a. i, iii and iv only  b. ii and iii correct 
c. i and ii only   d. i, ii, iii and iv correct 

e. Answer not known 
gpd;tUk; $w;Wfspy; ,e;jpa [dhjpgjp mjpfhuj;jpy; vJ/vit rhpahd? 
i. FbauRj; jiythpd; Kd;ghpe;JiuAld; kl;LNk gz kNrhjhf;fis 

ehlhSkd;wj;jpy; mwpKfg;gLj;j KbAk; 
ii. ehl;bd; ePjp epiyj;jd;ik my;yJ fld; mr;RWj;jYf;F cs;shFk; 

NghJ FbauRj;jiyth; epjp mtru epiyia mwptpf;f KbAk; 
iii. FbauRj;jiyth; jdJ mYtyfj;jpd; mjpfhuq;fs; kw;Wk; 

flikfisg; gad;gLj;Jtjw;F ve;jnthU ePjpkd;wj;jpd; Kd; 
nghWg;ghsp my;y 

iv. A+dpad; gpuNjrq;fspd; eph;thfj;jpw;F FbauRj;jiyth; nghWg;ghdth; 
a. i, iii kw;Wk; iv kl;LNk rhp  b. ii kw;Wk; iii kl;LNk rhp 
c. i kw;Wk; ii kl;LNk rhp  d. i, ii, iii kw;Wk; iv rhp 
e. tpil njhpatpy;iy 

 
42. Chapter V of Part V of the constitution provides for a high officer of the 

Parliament who would exercise vigilance over the expenditure of public 
money. He is ____. 
a. Comptroller and Audit General of India 
b. Finance Minister 
c. Auditor General 
d. Prime Minister 
e. Answer not known 
murpay; rhrd gFjp V-d; V-k; mj;jpahak; kf;fspd; (nghJ) gzj;ij 
fz;fhzpf;f ehlhSkd;wj;jpd; xU cah; mjpfhupia epakdk; nra;fpwJ. 
mth; ____ Mthh; 
a. ,e;jpa jiyik jzpf;if kw;Wk; fzf;fhsh; 
b. epjp mikr;rh; 
c. jiyik jzpf;ifahsh; 
d. gpujk ke;jphp 
e. tpil njhpatpy;iy 

 
43. Which of following statements are true about fundamental duties? 

i. Fundamental duties are laid down in Article 51-A of the Constitution 
ii. 86th amendment Act, 2002 added 11th fundamental duty to the list 
iii. To develop scientific temper is not a fundamental duty 
a. i only    b. ii and iii only 
c. i and ii only   d. i and iii only 
e. Answer not known 
mbg;gilf;flikfs; Fwpj;jf; fPo;f;fhZk; ve;j nrhw;nwhlh;fs; rhpahdit? 
i. mbg;gilf; flikfs; murpayikg;gpd; tpjp 51A ,y; 

nfhLf;fg;gl;Ls;sJ 
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ii. 11tJ mbg;gil flikia 86tJ jpUj;jr;rl;lk; 2002,y; gl;baypy; 
Nrh;f;fg;gl;Ls;sJ 

iii. Mwptpay; kdg;ghd;ikia tsh;j;jy; xU mbg;gil flikay;y 
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk; 
c. i kw;wk; ii kl;Lk;  d. i kw;Wk; iii kl;Lk; 
e. tpil njhpatpy;iy 
 

44. Which of the following statements are true about Judicial Review? 
i. The doctrine of judicial revies originated and developed in the U.K 
ii. The Constitution of India confers the power of judicial review on the 

judiciary 
iii. The power of judicial review cannot be curtailed even by a 

Constitutional amendment 
a. i and ii are true  b. ii and iii are true 

c. i and iii are true  d. i, ii and iii are true 
e. Answer not known 
ePjp Gduha;T gw;wpa fPo;f;fhzg;gLk; thf;fpaq;fspy; vJ/vit rhpahdit? 
i. ePjp Gduha;Tf; Nfhl;ghL A.Nf. (U.K) Njhd;wpaJ kw;Wk; 

cUthf;fg;gl;lJ. 
ii. ,e;jpa murpayikg;G ePjpj;Jiwf;F ePjpGduha;T mjpfhuj;ij 

toq;FfpwJ 
iii. ePjp Gduha;T mjpfhuj;ij murpayikg;G jpUj;jk; %yk; Fiwf;f 

KbahJ 
a. i kw;Wk; ii rhp   b. ii kw;Wk; iii rhp 
c. i kw;Wk; iii rhp   d. i, ii kw;Wk; iii rhp 
e. tpil njhpatpy;iy 

 
45. Which Constitutional Amendment inserted Article 43B for promotion of Co-

operative Societies?  
a. 42nd Amendment, 1976   b. 44th Amendment, 1978 
c. 86th Amendment, 2002  d. 97th Amendment, 2011  

e. Answer not known   
ve;j murpayikg;G jpUj;jr; rl;lk; $l;LwT rq;fq;fis Cf;Ftpg;gjw;fhfg; 
gphpT 43B – ia ,izj;jJ?  
a. 42MtJ jpUj;jr; rl;lk;     
b. 44MtJ jpUj;jr; rl;lk;> 1978  
c. 86MtJ jpUj;jr; rl;lk;> 2002        
d. 97MtJ jpUj;jr; rl;lk;> 2011   
e. tpil njhpatpy;iy 

 
46. Which one of the following fundamental rights has been wrongly listed?  

a. Right to Equality     
b. Right to Constitutional Remedies  
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c. Right to Exploitation      
d. Answer not known  
e. Answer not known   
fPNo nfhLf;fg;gl;l mbg;gil chpikfspy; vJ jtwhdJ?  
a. rkj;Jt chpik       
b. murpayikg;gpd; %yk; jPh;T fhZk; chpik  
c. Ruz;lYf;Fz;lhd chpik        
d. Rje;jpu chpik  
e. tpil njhpatpy;iy  

 
47. Which article says that, “No child below the age of 14 years shall be 

employed to work in any factory or in any hazardous employment”? 
a. Article 27  b. Article 26  c. Article 24 
d. Article 25  e. Answer not known 
‘14 taJf;F fPo; cs;s Foe;ijfs; ahUk; njhopw;$lk; my;yJ 
mghafukhd ,lq;fspy; Ntiy ghh;f;ff; $lhJ’ - ,ijf; $Wk; rl;lg;gphpT 
vJ? 
a. rl;lg;gphpT 27  b. rl;lg;gphpT 26  c. rl;lg;gphpT 24 
d. rl;lg;gphpT 25  e. tpil njhpatpy;iy 

48. Arrange the following in descending order of amount receipt in budget 
estimates 2022:23 
i. State excise   i. Stamps and registration fees 
iii. Motor vehicles tax 
a. i, ii, iii   b. ii, i, iii   c. iii, i, ii   
d. iii, ii, i   e. Answer not known 
2022-23 epjpepiy mwpf;ifapd; Njhuha kjpg;gpy; fPo;f;fz;l gw;Wr;rPl;L 
njhifia ,wq;Fthpirapy; vOJf 
i. khepy fyhy; thp  ii. Kj;jpiu kw;Wk; gjpT fl;lzk; 
iii. Nkhl;lhh; thfd rhp 
a. i, ii, iii   b. ii, i, iii   c. iii, i, ii   
d. iii, ii, i   e. tpil njhpatpy;iy 

 
49. Which of the following statements are correct? 

i. The nominal GSDP Growth of TN is estimated to be 14.0 percent in 
2022-23 

ii. In the TN budget estimate 2022-23, the fiscal deficit is estimated at 3.63 
percent GSDP 

iii. The outstanding debt as a percentage of GSDP is expected to be 27.76 
percent in 2022-23 

a. i only  b. ii only   c. i, ii and iii 

d. ii and iii  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdtw;iw Njh;e;njL 
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i. 2022-23,y; jkpo;ehl;bd; ngaustpy; GSDP tsh;r;rp 14.0 rjtPjkhf 
fzf;fplg;gLfpwJ 

ii. 2022-23> jkpo;ehL epjpepiy mwpf;ifapd; Njhuhakjpg;G 
epjpg;gw;whf;Fiwapd; (fiscal deficit) GSDP 3.63 rjtPjkhd 
fzf;fplg;gLfpwJ 

iii. 2022-23,y; GSDP apd; rjtPjkhf epYitapYs;s fld; (outstanding 
debt) 27.76 rjtPjkhf vjph;ghh;f;fg;gLfpwJ 

a. i kl;Lk;  b. ii kl;Lk;    c. i, ii kw;Wk; iii 
d. ii kw;Wk; iii e. tpil njhpatpy;iy 

 
50. Which of the following is not the role of NITI Aayog? 

(i) Act as a think tank. 
(ii) Power to impose policies on states. 
(iii) Funds allocation 
a. i only   b. i and ii   c. ii and iii 

d. i and iii   e. Answer not known 
fPo;fz;ltw;wpy; vit epjp-MNahf;fpd; gzp ,y;iy? 
(i) xU MNyhrid FOthf nray;gLtJ. 
(ii) khepyq;fspy; jpl;lq;fis jpzpf;Fk; nray;jpwd;. 
(iii) epjp xJf;fPL 
a. i kl;Lk;   b. i kw;Wk; ii  c. ii kw;Wk; iii 
d. i kw;Wk; iii  e. tpil njhpatpy;iy 

 
51. Which of the following is NOT a feature of the joint family system? 

a. Authoritarian structure  b. Familistic organisation 
c. Individualistic identity  d. Depth of generations 
e. Answer not known 
gpd;tUtdtw;Ws; vJ $l;Lf; FLk;g mikg;gpd; mk;rk; my;y? 
a. rh;thjpfhu mikg;G   b. FLk;g mikg;G 
c. jdpkdpj milahsk;  d. jiyKiwfspd; cs;shh;e;j jd;ik 
d. tpil njhpatpy;iy 

 
52. The objective of Tenancy reform is 

a. Abolition of Intermediaries b. Increase Rural Literacy 
c. Regulation of Money Lenders d. Eradication of Rural indebtedness 
e. Answer not known 
epyf;Fj;jif rPh;j;jpUj;jr; rl;lj;jpd; Fwpf;Nfhs; 
a. ,ilj;jufh;fis ePf;FtJ   
b. fpuhkg;Gw fy;tpawpit mjpfhpg;gJ 
c. fld; toq;Fgth;fis KiwgLj;JtJ 
d. fpuhkg;Gw fld; Rikia xopg;gJ 
d. tpil njhpatpy;iy 
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53. Which one of the following is the function of the finance Commission of 

India? 
i. Allocation of the shares of net proceeds of taxes 
ii. Laying down principles governing grant-in-aid 
iii. Looking into the financial relation between the centre and the state 
a. i and ii   b. i, ii and iii  c. i and iii  
d. ii and iii   d. answer not known 
gpd;tUtdtw;wpy; ,e;jpa epjp Mizaj;jpd; nray;ghL vJ? 
i. thpfspd; epfu tUthapd; gq;Ffspd; xJf;fPL 
ii. khdpaq;fis eph;tfpf;Fk; nfhs;iffis tFj;jy; 
iii. kj;jpa kw;Wk; khepy muRfSf;F ,ilNa cs;s epjpAwitg; ghh;g;gJ 
a. i kw;Wk; ii  b. i, ii kw;Wk; iii   c. i kw;Wk; iii 
d. ii kw;Wk; iii  e. tpil njhpatpy;iy 

 
54. Boothalingam study group is related to 

a. Trade unions   b. Strikes   c. Lockouts 
d. Wages    e. Answer not known 
gpd;tUtdtw;wpy; G+jypq;fk; Ma;Tf;FO vjDld; njhlh;GilaJ? 
a. njhopw; rq;fq;fs;  b. Ntiy epWj;jk;  
c. G+l;Ljy;fs;   d. Cjpaq;fs; 
e. tpil njhpatpy;iy 

 
55. Which of the following journal is not associated with Subramaniya 

Bharathi? 
a. A New Daily  b. Vijaya    c. India 
d. New India  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ,jo;fspy;> vJ Rg;ukzpa ghujpAld; njhlh;GilaJ 
my;y? 
a. V epa+ nla;yp  b. tp[ah    c. ,e;jpah 
d. epa+ ,e;jpah  e. tpil njhpatpy;iy 
 

56. Match the following 
Party     Founder 
A. Swarantra Party  1. Sohan Singh Bhakna 
B. Gadar Party   2. Motilal Nehru 
C. Swaraj Party   3. C. Raja Gopalachari 
D. Forward Bloc Party  4. Subash Chandra Bose 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 1 3 4 2 
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d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
fl;rp     epWtdk; 
A. Rje;jpuh fl;rp   1. Nrhfd; rpq; gf;dh 
B. fjh; fl;rp   2. Nkhjpyhy; NeU 
C. Rauh[;a fl;rp   3. rp. uh[ Nfhghyhr;rhhp 
D. ghh;tl; gpshf; fl;rp  4. Rgh~; re;jpuNgh]; 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 1 3 4 2 
d. 3 1 2 4 
e. Answer not known 
 

57. When the Government of India had decided to appoint a One Man 
commission of Inquiry to inquire into the circumstances of the 
disappearance of Netaji Subhas Chandra Bose. In 1945 _________ ‘s name 
was recommended by the then Chief Justice of India 
a. Srinivasavaradan   b. K.K. Ghosh 
c. D.K. Roy     d. G.D. Khosla 
e. Answer not known 
fp.gp.1945 ,y; Nejh[p Rgh~; re;jpuNgh]; kh;kkhd Kiwapy; ,wg;nga;jijj; 
njhlh;e;J xU egh; FOj;jiyikapd; fPo; tprhuiz elj;Jtnjd ,e;jpa 
murhq;fk; KbntLj;j rkaj;jpy; md;iwa cr;rePjpkd;w jiyik ePjpgjp 
__________ ,d; ngaiug; ghpe;Jiuj;jhh; 
a. =epthrth;jd;    b. K.K. Nfh~; 
c. K.K. uha;     d. G.D. Nfh];yh 
e. tpil njhpatpy;iy 

 
58. Assertion (A): V.O. Chidambaram established the Swadeshi Steam 

navigation company. 
Reason (R): He wanted to oppose the monopoly of the British in Navigation 
through the coast. 

a. (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is correct and (R) is wrong 
d. (A) is wrong and (R) is correct 
e. Answer not known 
$w;W (A): t.c. rpjk;guk; RNjrp fg;gy; epWtdj;ijj; 
    njhlq;fpdhh;. 



 

22 | Page  PH: 044-24339436, 42867555, 9840226187   
 

fhuzk; (R): ,e;jpaf; flw;fiu thzpgj;jpy; Mq;fpNyah;fspd; 
    Kw;Whpikia mth; vjph;j;jhh;. 

a. $w;W (A) kw;Wk; fhuzk; (R) rhp> fhuzk; (R)> (A) $w;iw 
tpsf;FfpwJ. 

b. (A) $w;W kw;Wk; (R) fhuzk; rhp> Mdhy; (R) fhuzk; (A) $w;iw 
tpsf;ftpy;iy. 

c. (A) $w;W rhp> (R) fhuzk; jtW 
d. (A) $w;W jtW> (R) fhuzk; rhp 
e. tpil njhpatpy;iy 

 
59. Consider the following statements: 

i. The partition of Bengal in 1905 was the most striking example of the 
British divide and rule policy 

ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for the 
boycott of British goods and institutions. 

iii. On 7th August 1905 at Town Hall meeting in Calcutta, a formal 
proclamation of Swadeshi movement was made  

Which of the statements given above is/are correct? 
a. i only    b. i and iii only  c. i and ii only 
d. i, ii and iii are correct e. Answer not known 
gpd;tUk; $w;Wf;fis fhz;f. 

i. 1905-,y; Nkw;nfhs;sg;gl;l tq;fg; gphptpid Mq;fpNyahpd; gphpj;jhSk; 
nfhs;iff;F kpfr; rpwe;j cjhuzkhFk;. 

ii. 1905-,y; eilngw;w nfhy;fj;jh khehl;by; RNue;jpuehj; ghdh;[p 
gphpl;b~; nghUl;fisAk; epWtdq;fisAk; Gwf;fzpf;f 
miog;GtpLj;jhh;. 

iii. 1905 Mf];l; 7-,y; nfhy;fj;jh efu muq;fpy; eilngw;w $l;lj;jpy; 
RNjrp ,af;fk; Fwpj;j Kiwahd mwptpg;G toq;fg;gl;lJ. 

a. i kl;Lk;     b. i kw;Wk; iii kl;Lk; c. i kw;Wk; ii kl;Lk; 
d. i, ii kw;Wk; iii rhpahdJ e. tpil njhpatpy;iy 

 
60. Second Round Table conference of 1931: 

1. It was held during the reign of Lord Wellington as the viceroy of 
India. 

2. It was represented by Gandhi on behalf of INC. (Indian National 
Congress). 

Which of the above statement is/are correct? 
a. 1 only correct   b. 2 only correct 
c. Both 1 and 2 correct  d. Neither 1 nor 2 
e. Answer not known 
fp.gp. 1931 Mk; Mz;bd; ,uz;lhtJ tl;l Nki[ khehL: 
1. ntypq;fld; gpuG ,e;jpahtpd; it];uhahf ,Ue;j NghJ eilngw;wJ. 
2. ,e;jpa Njrpa fhq;fpurpd; gpujpepjpahf fhe;jp ,k;khehl;by; fye;J 

nfhz;lhh;. 
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Nkw;fz;l $w;Wfspy; vJ/vit rhpahdit? 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1  kw;Wk; 2 
d. 1k; my;y> 2k; my;y  e. tpil njhpatpy;iy 

 
61. Muhammadan Literary and Scientific Society of Calcutta was organised by 

a. Amir Ali   b. Dudhu Miyan  c. Abdul Latif 

d. Shariatullah  e. Answer not known 
nfhy;fj;jhtpy; Kfkjpahpd; ,yf;fpak; kw;Wk; mwptpay; mikg;ig 
Vw;gLj;jpath; 
a. mkPh; myp  b. JJ ;̀ kpahd;  c. mg;Jy; yj;jP/g; 
d. ~hpaj;Jy;yh ;̀ e. tpil njhpatpy;iy 

 
62. In which excavation site Sir. Mortimer Wheelar used scientific and soil layer 

method? 
a. Pallavaram  b. Attirampakkam  c. Arikkamedu 
d. Kaayal   e. Answer not known 
ve;j mfo;thuha;r;rp gFjpapy; rh;. Nkhh;bkh; tPyh; mwptpay; kw;Wk; kz; 
mLf;F Kiwiag; gad;gLj;jpdhh;? 
a. gy;yhtuk;  b. mj;jpuk;ghf;fk;   c. mhpf;fNkL 
d. fhay;   e. tpil njhpatpy;iy 

 
63. During the ‘Later Chola Period’, ‘Irayili’ was associated with 

a. Tax free land    b Taxed land  
c. Tax levied on temple land  d. Tax levied on leasing land 
e. Answer not known 
gpw;fhyr; Nrhou; fhyj;jpy; ‘,iwapyp’ vd;gJ ____ njhlh;GilaJ. 
a. thp ,y;yhj epyk;    
b. thp t#ypf;fg;gl;l epyk; 
c. Nfhapy; epyj;jpw;F tpjpf;fg;gl;lthp 
d. Fj;jiff;F tplg;gl;l epyj;jpw;fhd thp 
e. tpil njhpatpy;iy 

 
64. Virudhunagar Sankaralinganar, involved in an indefinite hunger strike to 

rename the Madras State as Tamil Nadu and died during 
a. 1956 July   b. 1956 October  c. 1965 July 
d. 1965 October  e. Answer not known 
kjuhR khepyk;> jkpo;ehL vd;W ngah; khw;w Ntz;b tpUJefh; 
rq;fuypq;fdhh; cz;zhtpujkpUe;J caph; Jwe;j Mz;L 
a. 1956 [_iy  b. 1956 mf;Nlhgh;   c. 1965 [_iy  
d. 1965 mf;Nlhgh; e. tpil njhpatpy;iy 
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65. Who was the author of the book “Oppressed Hindus”? 
a. M. Palaniswamy  b. R. Veeraiyan  c. P.V. Subramanian 
d. M.C. Rajah   e. answer not known 
‘xLf;fg;gl;l ,e;Jf;fs; vd;w Gj;jfj;jpd; Mrphpah; ahh;? 
a. M. godprhkp   b. R. tPua;ad;  c. P.V. Rg;gpukzpad; 
d. M.C. uh[h   e. tpil njhpatpy;iy 

 
66. The compound interest on ₹ 5,000 at 12% p.a. for 2 years compounded 

annually is 
a. ₹ 1,072   b. ₹ 1,172   c. ₹ 1,272 
d. ₹ 1,372   e. Answer not known 
` 5,000-f;F 12% Mz;L tl;bapy;> 2 Mz;LfSf;F> Mz;Lf;nfhUKiw 
tl;bf; fzf;fplg;gl;lhy; fpilf;Fk; $l;L tl;bahdJ. 
a. ₹ 1,072   b. ₹ 1,172   c. ₹ 1,272 
d. ₹ 1,372   e. tpil njhpatpy;iy 
 

67. At what rate of simple interest, the principle ₹ 48,000 will amount to ₹ 
55,560 in 2 years 3 months. 
a. 5%   b. 6%  c. 7%  d. 8%  e. Answer not known 
mry; ₹ 48,000 MdJ 2 Mz;Lfs; 3 khjfhyj;jpw;F gpd; jdptl;b %yk; 
nkhj;jj; njhifahf ₹ 55,560 Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f. 
a. 5%   b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy 

 
68. Which moral text is exclaimed as “Velaan Vedham”? 

a. Thirukkural  b. Asarakovai  c. Proverbs 
d. Naladiyar  e. Answer not known 
‘Ntshz; Ntjk;’ vdg; Nghw;wg;gLk; ePjp E}y; ,J 
a. jpUf;Fws;  b. Mrhuf;Nfhit  c. gonkhop 
d. ehybahh;  e. tpil njhpatpy;iy 

 
69. “Thirukkural and Kamban’s Epic would suffice to build a new civilization 

even if the present one is completely erased”. Who said this? 
a. Caldwell  b. G.U. Pope  c. Veeramamunivar 
d. Ellis   e. Answer not known 
cyfpdpy; ehfhpfk; Kw;Wk; mope;Jtpl;lhYk; jpUf;FwSk;> fk;gd; fhtpaKk; 
,Ue;jhy; NghJk;> kPz;Lk; mjidg; GJg;gpj;Jtplyhk; - vd;W $wpath; 
a. fhy;Lnty;  b. [p.A. Nghg;  c. tPukhKdpth; 
d. vy;yP];   e. tpil njhpatpy;iy 

 
70. Who are the ones who brave the FATE? 

“Oozhaiyum uppakkam kaanpavar” – yaar? 
a. Learned   b. Young people  c. Deligent people 
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d. Lazy people  e. Answer not known 
‘CioAk; cg;gf;fk; fhz;gth;’ – ahh;? 
a. rhd;Nwhh;   b. ,isNahh;  c. tplhKaw;rp cilNahh; 
d. Nrhk;Ngwp  d. tpil njhpatpy;iy 

 
71. What Thiruvalluvar says are the qualities of an Ambassador? 

a. Knowledge, Origin, Education   
b. Love, Knowledge, Clarity of speech 
c. Duty, knowing the fitting time, knowing the place 
d. Purity, Resources, Courage 
e. Answer not known 
xU J}Jtdpd; Fzq;fshfj; jpUts;Sth; vtw;iwf; $Wfpwhh;? 
a. mwpT> Njhw;wk;> fy;tp   b. md;G> mwpT> njspe;j Ngr;R 
c. flik> fhykwpjy;> ,lkwpjy;  d. J}a;ik> Jizik> JzpT 
e. tpil njhpatpy;iy 

 
72. What is the meaning conveyed through the word “extinguish”? 

With ghee extinguish fire! 
It will prove harder by scandal to extinguish love 
a. Life  b. Put out   c. System 
d. Expertise e. Answer not known 
“nea;ahy; vhpEjg;Ngk; vd;ww;why; nfsitahy; 
fhkk; EJg;Ngk; vdy; 
vd;Dk; Fwspy; ‘EJg;Ngk;’ vd;gjd; nghUs; ahJ? 
a. MAs;   b. mtpj;jy;   c. Kiwik 
d. gapy;Tilik  e. tpil njhpatpy;iy 

 
73. According to the Kural; “Gnalam Karuthinum Kaikoodum” when a man 

wants to conquer the world what are the two things he should keep in 
mind? 
i. Wealth and Bravery/courage 
ii. Time and Place 
a. i only    b. ii only   c. i and ii 
d. None of the above  e. Answer not known 
“Qhyk; fUjpDk; if$Lk;” – 
Nkw;$wpa jpUf;Fwspd;gb xUth; cyfk; KOtijAk; ifg;gw;wf; fUjpdhy; 
mth; ve;j ,uz;il mwpe;J nray;gl Ntz;Lk;? 
(i) nry;tKk; tPuKk; 
(ii) fhyKk; ,lKk; 
a. i kl;Lk;     b. ii kl;Lk;   c. i kw;Wk; ii 
d. Nkw;fhZk; vitAk; my;y  e. tpil njhpatpy;iy 
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74. Tamilnadu housing board and Tamilnadu urban habitat development board 
were created in 
a. 1961 and 1970   b. 1951 and 1960 
c. 1970 and 1960   d. 1960 and 1951 
e. Answer not known 
jkpo;ehL tPl;L trjp thhpak; kw;Wk; jkpo;ehL efh;g;Gw tho;tpl Nkk;ghl;L 
thhpak; cUthf;fg;gl;l Mz;L 
a. 1961 kw;Wk; 1970   b. 1951 kw;Wk; 1960 
c. 1970 kw;Wk; 1960   d. 1960 kw;Wk; 1951 
e. tpil njhpatpy;iy 
 

75. Which of the following statement is/are true of free Drop Back Service 
Janani Sishu Suraksha Karyakaram (JSSK)? 
i. JSSK started as a pilot project in Tamil Nadu by TNHSP 
ii. Drop Back vehicle can transport mother with babies upto one year 
a. only i     b. only ii   c. Both i and ii are true 
d. Both i and ii are false e. Answer not known 
[ddp rp~{ Ruf;~h fhhpafuk; ,ytr buhg; Ngf; (Free Dop Back) 
Nritapy; gpd;tUk; $w;Wfspy; vJ/vit cz;ik? 
i. JSSK MdJ TNHSP My; jkpo;ehl;by; xU Kd;Ndhb jpl;lkhfj; 

njhlq;fg;gl;lJ 
ii. buhg; Ngf; thfdk; xU taJ Foe;ijiaAk; jhiaAk; nfhz;L 

nry;y top tif nra;ag;gl;Ls;sJ 
a. i kl;Lk;     b. ii kl;Lk;   
c. i kw;Wk; ii ,uz;Lk; cz;ik d. i kw;Wk; ii ,uz;Lk; jtwhdit 
e. tpil njhpatpy;iy 

 
76. Match the following:  

A. Senji     1. Stata durga  
B. Anaimalai    2. Vana durga  
C. Vellore     3. Giri Durage  
D. Panchalankurichi   4. Jala durga  
 A B C D 
a.  2 3 4 1       
b.  3 2 1 4  
c.  3 2 4 1      
d.  4 3 2 1  
e. Answer not known  
fPo;f;fhz;gtw;iwg; nghUj;Jf:  
A. nrQ;rp    1. ];jy Jh;fh  
B. Midkiy  2. td Jh;fh  
C. NtY}h;   3. fphp Jh;fh  
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D. ghQ;rhyq;Fwpr;rp 4. [y Jh;fh  
 A B C D 
a.  2 3 4 1       
b.  3 2 1 4  
c.  3 2 4 1      
d.  4 3 2 1  
e. tpil njhpatpy;iy  

 
77. Which of the following are correctly paired? 

1. Kaprekar   - Astrophysicist 
2. Janaki Ammal   - Biologist 
3. Debashis Mukherjee - Chemistry 
4. Meghnad Saha  - Mathematician 
a. 1 and 4 are correct  b. 1 and 2 are correct 
c. 2 and 4 are correct  d. 2 and 3 are correct 

e. Answer not known 
gpd;tUtdtw;wpy; vit rhpahfg; nghUj;jg;gl;Ls;sJ? 
1. fg;Nufhh;    - thdpay; ,aw;gpayhsh; 
2. [hdfp mk;khs;  - caphpapayhsh; 
3. njgh]p]; Kfh;[p  - Ntjpapayhsh; 
4. Nkf;ehj; rh`h  - fzpjtpayhsh; 
a. 1 kw;Wk; 4 rhpahdit b. 1 kw;Wk; 2 rhpahdit 
c. 2 kw;Wk; 4 rhpahdit d. 2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy 

 
78. World Youth Skills day is celebrated on 

a. March 15   b. May, 15    c. August, 15 
d. July, 15   e. Answer not known 
cyf ,isQh; jpwd; jpdk; nfhz;lhlg;gLfpw ehs; 
a. khh;r; 15   b. Nk> 15    c. Mf];l; 15 
d. [_iy 15  e. tpil njhpatpy;iy 

 
 
79. 2 P J @ 8 $ L B 1 V # Q 6   G W 9 K C D 3 © •£ 5 F R 7 A Y 4 P @ L is to Y 7 

% in the same way as $ 1 # is to 
a. R £©   b. F £ 3   c. F • 3 

d. 5 • D    e. Answer not known 
2 P J @ 8 $ L B 1 V # Q 6   G W 9 K C D 3 © •£ 5 F R 7 A Y 4 P @ L vd;gJ Y 
7 5 vd;W Fwpf;fg;gl;lhy; $ 1 # vd;gJ vt;thW Fwpf;fg;gLk;? 
a. R £©   b. F £ 3   c. F • 3 
d. 5 • D    e. tpil njhpatpy;iy 
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80. If x means  , – means x,   means + and + means – , what is the value of (3 – 
15   19) x 8 + 6? 
a. 8   b. 4  c. 2  d. – 1  d. answer not known 
x vd;gJ  , – vd;gJ x,   vd;gJ + kw;Wk; + vd;gJ – , vdpy;  (3 – 15   19) x 8 + 6 
,d; kjpg;G vd;d? 
a. 8   b. 4  c. 2  d. – 1  d. tpil njhpatpy;iy 
 

81. Which number replaces the questions mark for the following numbers?  

 
a. 21     b. 23       c. 25    
d. 27    e. Answer not known   
fPNo nfhLf;fg;gl;Ls;s vz;fspy; tpdh FwpaPl;Lf;Fg; gjpyhf tUk; vz; 
vJ?  

 
a. 21     b. 23       c. 25    
d. 27    e. tpil njhpatpy;iy  
 
 

82. Find the volume of water tank measured 10 m × 5 m × 1.5 m.  
a. 75 litre     b. 750 litre   c. 7500 litre    
d. 75000 litre    e. Answer not known   
10 kP × 5 kP × 1.5 kP msTs;s xU ePh;j;njhl;bapd; nfhs;ssT ahJ?  
a. 75 ypl;lh;   b. 750 ypl;lh;   c. 7500 ypl;lh;     
d. 75000 ypl;lh;    e. tpil njhpatpy;iy  
 

83. An aluminium sphere of radius 12 cm is melted to make a cylinder of radius 
8 cm. Find the height of the cylinder.  
a. 24 cm     b. 30 cm     c. 36 cm   
d. 40 cm     e. Answer not known   
12 nr.kP MuKs;s Xh; mYkpdpaf; Nfhsk; cUtf;fg;gl;L 8 nr.kP MuKs;s 
Xh; cUisahf khw;wg;gLfpwJ. cUisapd; cauk; fhz;f.  
a. 24 nr.kP    b. 30 nr.kP 
c. 36 nr.kP    d. 40 nr.kP  
e. tpil njhpatpy;iy  
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84. Which among the following is the simple interest for the principal of Rs. 
1,000 for one year at the rate of 10% interest per annum? 
a. Rs. 700    b.  Rs. 500     c. Rs. 150   
d. Rs. 100     e. Answer not known   
gpd;tUtdtw;wpy; vJ Rs. 1,000 mrYf;fhf Xuhz;Lf;F 10% vd;w tPjj;jpy; 
jdptl;bahFk;?  
a.  Rs. 700   b.  Rs. 500    c. Rs. 150    
d. Rs. 100    e. tpil njhpatpy;iy  
 

85. If the simple interest at the rate of x% per annum, for x years, is ` x. then the 
principal amount is  

a. ₹ x      b. ₹
100

x

 
 
 

 

c. ₹ 100 x     d. ₹ 
2

100

x
  e. Answer not known  

Xh; Mz;bw;F> x% tl;b tPjj;jpy; x – Mz;LfSf;F fpilf;Fk; jdptl;b 
tPjkhdJ ` x vdpy; mrypd; kjpg;G _____________ MFk;.  

a. ₹ x      b. ₹
100

x

 
 
 

 

c. ₹ 100 x     d. ₹ 
2

100

x
  e. tpil njhpatpy;iy  

 
86. It 2x + 3y: 3x + 5y = 18 : 29 then x : y is  

a. 4 : 3    b. 3 : 4    c. 2 : 3    
d. 3 : 5    e. Answer not known   
2x + 3y: 3x + 5y = 18 : 29  vdpy; x : y vd;gJ  
a. 4 : 3    b. 3 : 4    c. 2 : 3   
d. 3 : 5    e. tpil njhpatpy;iy  
 

87. If 5 : 6 = x : 12. Then the value of x is  
a. 10    b. 6  c. 12   d. 5 e. Answer not known   
vdpy; x – d; kjpg;G  
a. 10    b. 6  c. 12   d. 5 e. tpil njhpatpy;iy  
 

88. What is the greatest possible volume of a vessel that can be used to measure 
exactly the volume of milk in cans (in full capacity) of 80 litres, 100 litres and 
120 litres?  
a. 20 litres      b. 25 litres    c. 30 litres     
d. 40 litres     e. Answer not known   
KOtJkhf epug;gg;gl;Ls;s 80 ypl;lh;> 100 ypl;lh; kw;Wk; 120 ypl;lh; 
nfhs;ssT cs;s fyd;fspy; ghypid rhpahf msf;ff;$ba ghj;jpuj;jpd; 
mjpfgl;rf; nfhs;ssT vt;tsT?  
a. 20 ypl;lh;fs;   b. 25 ypl;lh;fs;  c. 30 ypl;lh;fs;    
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d. 40 ypl;lh;fs;    e. tpil njhpatpy;iy  
 

89. Find the HCF of α3 – 9 α x2, (α – 3x)2  
a. (α2 – 9x2)     b. (α - 3x)2      c. (α3 – 9αx2) 
d. (α - 3x)      e. Answer not known   
α3 – 9 α x2, (α – 3x)2  Mfpatw;wpd; kPg;ngU nghJ tFj;jpia fhz;f.  
a. (α2 – 9x2)     b. (α - 3x)2      c. (α3 – 9αx2)  
d. (α - 3x)      e. tpil njhpatpy;iy  
 

90. Kumar borrowed 52,000 from a money lender at a particular rate of simple 
interest. After 4 years, he paid 79,040 to settle his debt. At what rate of 
interest he borrowed the money?  
a. 12%   b. 13% c. 15% d. 11% e. Answer not known   
Fkhh; vd;gth; xU Fwpg;gpl;l jdptl;b tpfpjj;jpy; ` 52>000 fldhfg; ngw;whh;. 
4 Mz;LfSf;Fg; gpwF jdJ flDf;fhf ` 79>040-Ir; nrYj;jpdhh; vdpy;> 
vd;d tl;btPjj;jpy; mth; fld; ngw;Ws;shh;.  
a. 12%   b. 13% c. 15% d. 11% e. tpil njhpatpy;iy  
 

91. How many terms of the series 13 + 23 + 33 + ….. should be taken to get the 
sum 1296? 
a. 6   b. 7  c. 8  d. 9  e. Answer not known 
13 + 23 + 33 + ….. vd;w njhlhpy; vj;jid cWg;Gfis $l;bdhy; $Ljy; 1296 
fpilf;Fk;? 
a. 6   b. 7  c. 8  d. 9  e. tpil njhpatpy;iy 
 

92. Alluvial soil is rich in 
a. Humus, Phosphoric acid, Lime and Organic matter 
b. Iron, Lime, Calcium, Potash, Aluminium and Magnesium Carbonates. 
c. Iron and Aluminium 
d. Highly Saline and rich in organic matter 
e. Answer not known 
tz;ly; kz; _____ %yk; tskhdjhf cs;sJ. 
a. kf;fpa> gh];ghpf; mkpyk;> Rz;zhk;G> fhpkg;nghUs; 
b. ,Uk;G> Rz;zhk;G> fhy;rpak;> nghl;lh~pak;> mYkpdpak; kw;Wk; 

kf;dP~pak; fhh;gNdl;. 
c. ,Uk;G kw;Wk; mYkpdpak; 
d. kpFe;j cg;Gj;jd;ik kw;Wk; mjpf fhpkg;nghUs;fs; 
e. tpil njhpatpy;iy 

 
93. “The Cultural Development is characterised by intellectual, aesthetic and 

spiritual attainments” Who said the above statement? 
a. J.S. Mill   b. S.M. Fairchild  c. Max Weber 
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d. Tansen   e. Answer not known 
“fyhr;rhu tsh;r;rp vd;gJ mwpT mofpay; kw;Wk; Md;kPf rhjidfshy; 
tifg;gLj;jg;gLfpwJ” vd;w Nkw;fz;l $w;W ahUilaJ? 
a. N[.v];.kpy;  b. v];.vk;. /Ngh;iry;L c. Nkf;]; ntg;gh; 
d. lhd;Nrd;   e. tpil njhpatpy;iy 
 

94. Find the value of 3 3 3...  

a. 31    b. 32     c. 33 
d. 34    e. Answer not known 

kjpg;G fhz;f: 3 3 3...  

a. 31    b. 32     c. 33 
d. 34    e. tpil njhpatpy;iy 
 

95. The average mark of 25 students was found to be 78.4. Later on, it was 
found that score of 96 was misread as 69. Find the correct mean of the 
marks. 
a. 77.32   b. 79.48    c. 79.84 
d. 97.84   e. Answer not known 
25 khzth;fspd; ruhrhp kjpg;ngz; 78.4 ,q;F 96 vd;w kjpg;ghdJ 69 vdj; 
jtWjyhf vLf;fg;gl;lJ fz;lwpag;gl;lJ vdpy;> kjpg;ngz;fSf;fhd 
rhpahd ruhrhpiaf; fhz;f. 
a. 77.32   b. 79.48    c. 79.84 
d. 97.84   e. tpil njhpatpy;iy 
 

96. The difference between the S.I and C.I. for 2 years for a principal of ₹ 5,000 
at the rate of interest 8% p.a. is 
a. ₹ 32   b. ₹ 35   c. ₹ 38 
d. ₹ 42   e. Answer not known 
₹ 5,000 f;F> 8% Mz;L tl;bapy;> 2 Mz;LfSf;F jdptl;bf;Fk; $l;L 
tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; 
a. ₹ 32   b. ₹ 35   c. ₹ 38 
d. ₹ 42   e. tpil njhpatpy;iy 
 

97. If three candidates A, B and C in a school election got 153, 245 and 102 votes 
respectively, find the percentage of votes got by the winner? 
a. 48%   b. 49%   c. 50% 
d. 55%   e. Answer not known 
A, B, C vd;w Ntl;ghsh;fs; gs;sp Njh;jypy; ngw;w thf;Ffs; KiwNa 153, 
245 kw;Wk; 102 vdpy; ntw;wp Ntl;ghshpd; thf;F rjtPjj;ijf; fhz;f. 
a. 48% b. 49% c. 50% d. 55% e. tpil njhpatpy;iy 
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98. HCF and LCM of two numbers are 16 and 240 respectively. If one of the 
number is 48, then the other number is 
a. 80  b. 60  c. 70  d. 90  e. Answer not known 
,U vz;fspd; kP.ngh.t kw;Wk; kP.ngh.k. KiwNa 16 kw;Wk; 240 MFk;. 
mt;tpU vz;fspy;> xU vz; 48 vdpy; kw;nwhU vz;izf; fhz;f. 
a. 80  b. 60  c. 70  d. 90  e. tpil njhpatpy;iy 
 

99. Human blood grouping was discovered by 
a. Landsteiner  b. Punett   c. Correns 
d. Muller   e. Answer not known 
kdpj ,uj;j tiffisf; fz;lwpe;jth; 
a. Nyd;l;];Bdh;  b. Gd;ndl;   c. Nfhnud;]; 
d. Ky;yh;   e. tpil njhpatpy;iy 

 
100. Match correctly the common name with the Genus name of nematode 

parasites 
A. Ancyclostoma   1. Whip Worm 
B. Enterobius   2. Hook Worm 
C. Wuchereria   3. Pin Worm 
D. Trichuris   4. Filarial Worm 
 A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 2 1 
d. 2 1 4 3 
e. Answer not known 
E}w;GO xl;Lz;zpfspd; Nghpdg; ngaUild; nghJthd ngaiu rhpahfg; 
nghUj;jTk; 
A. md;irf;Nyh];Nlhkh  1. rhl;il GO 
B. vd;NlhNuhgpa];   2. nfhf;fp GO 
C. Tr;nrNuhpah    3. Ks; GO 
D. l;iuFhp];    4. /igNyhpay; GO 
 A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 


